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QUESTION 1

Why does lock-in represent a significant threat to the business? 

A. Lack of tools and procedures for migration 

B. Potential for isolation failure between tenants 

C. Insufficient evidence of compliance 

D. Inadequate guarantees of full data erasure 

Correct Answer: A 

 

QUESTION 2

Which method of storage virtualization provides the added benefit of wide striping? 

A. Virtual LUN Migration 

B. Virtual Provisioning 

C. Server-based storage virtualization 

D. Storage tiering 

Correct Answer: B 

 

QUESTION 3

Your customer is primarily concerned with asset discovery and a reconciled view of all infrastructure components and
the dependencies between them. 

Which type of architecture would you recommend? 

A. Change management system 

B. CMDB 

C. Asset management system 

D. Federated CMDB 

Correct Answer: D 

 

QUESTION 4

An application is designed with reusable modules that can be called by other applications as needed. What is this an
example of? 
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A. EAI via Mesh 

B. EAI 

C. SOA 

D. ESB 

Correct Answer: C 

 

QUESTION 5

Which mode of IPSec encrypts only the payload of the IP packet? 

A. Trusted 

B. Transparent 

C. Transport 

D. Tunnel 

Correct Answer: C 
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